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401 Al HI K 201 I 600,000 500,000 100,000
01 A& Bl 597,140 497,140 100,000
el ME(M=X, L2, =X, =L,
42 ) RAES 2 Ul 397,140
Ol HALY 100,000
OXIAL S&X7 s@E 22 HEMS 100,000
03 Al 2 0HHI 2,860 2,860 0
OLFX =clAIEMEs 397,140,000 x0.72% 2,860
sPE+= A2 130,000 95,000 35,000
201 ¢er24| 20,000 20,000 0
01 At 22l 20,000 20,000 0
O=sg&8=+ =23 AME 125,000 » 1604 2 20,000
401 AIEHI L 2 CHYI 110,000 75,000 35,000
01 A& HI 110,000 75,000 35,000
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O Of ¥

=
oM A DB BB
=E MEIIBEY

= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Osg8+ SlIAE M=2el ¥ Xot=Zex
At 110,000
MY AMES HE* 1,722,467 1,797,500 AT75,033
401 Al HI K 201 1,722,467 1,792,500 A70,033
01 A& tI 1,716,324 1,786,324 A70,000
o3 |RANE= 500,000
O OISANE (22, 283 S) FA22H 100,000
OLE2FMY 76,324
OsEaFNe 660,000
O2d HAHME 350,000
ONAXGtEBZAL(SFRSY) LR
10,000,000& *3H £ 30,000
03 Al 2 THHI 6,143 6,176 A33
OZFENMY M2 HE= 6,143
SEYMHE A 400,000 400,000 0
401 AIEHI L 2 CHYI 400,000 400,000 0
01 A& HI 400,000 400,000 0
OSEMEAE 400,000
=2 HUAL 1,950,000 900,000 1,050,000
401 AIEHI L 20 1,750,000 800,000 950,000
01 A& Bl 1,750,000 800,000 950,000
OEt=2 FHIAY 1,200,000
O==IH& At 500,000
OdZ Uiclits == Fl 50,000
403 UHXSHHSA=0l& 200,000 100,000 100,000
02 SO 2SOICHSH A2 X 2 &AM I 200,000 100,000 100,000
OEti=2 SUAZ 200,000
StUHHI =1 321,250 318,750 2,500
= 257,000
i 64,250
401 Al HIZ 201 8] 321,250 318,750 2,500
= 257,000
s 64,250
01 A& HI 318,937 316,455 2,482
Ot Hdl S 318,937
= 257,000
s 61,937
03 Al 2 0HHI 2,313 2,295 18
Oste il e 2,313
2|8t B ALY 30,000 30,000 0
401 Al HIZ 201 Y] 30,000 30,000 0
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EXN: A4
M HMA JIBHHIAH &5
Sl sesE MEIIBEY (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 30,000 30,000 0
Ogo|et X2el 30,000
I ZMEOITH RN ELB2IHY) 428,000 786,000 A 358,000
g 300,000
= 128,000
401 AlEHIZL 2 0HY| 428,000 786,000 A 358,000
g 300,000
= 128,000
01 Al& B 424 918 781,054 A 356,136
O8zXN7? NE=ZBLIHL AL 424 918
= 300,000
= 124,918
03 Al 24| 3,082 4,946 N 1,864
Os=2X3 NESSBUINEAS
428,000,000%0.72% 3,082
I ZMEQTRH (I HBIHEZR SHLIEAY) 386,000 428,000 A 42,000
g 270,000
= 58,000
= 58,000
401 AlEHIZL 201 Y| 386,000 428,000 A 42,000
= 270,000
= 58,000
= 58,000
01 Al&H| 383,220 424,976 N4, 756
OJIAHSEEZ SHLEAY 383,220
Ry 270,000
& 58,000
o 55,220
03 Al 20| 2,780 3,024 N 244
OJIASE &z S IZAAS  386,000,000%0.72% 2,780
SHI|BHAH| (A2 LCIAEME L) 1,250,000 1,250,000 0
g 1,000,000
= 250,000
401 Al HI L 204 HI 1,250,000 1,250,000 0
hag 1,000,000
= 250,000
1 Al& H| 1,245,500 1,245,500 0
OANMZF2lAIEME £ 1,245,500
g 1,000,000
= 245,500
03 AlIE 21| 4,500 4,500 0
OANZxelAIEME 1,250,000,000%0.36% 4,500
HH 2= JH & (BH =0 & AFE) 1,000,000 0 1,000,000
= 1,000,000
401 Al HI L £ 0HHI 1,000,000 0 1,000,000
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A R =y
M P DIEHHA ==
Sl SesE MEIINEY CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 1,000,000
01 A& HI 993,700 0 993,700
OSSN 7 h==H& A 993,700
= 993,700
03 Al 20 HI 6,300 0 6,300
OSZX+ i==H&ALS  1,000,000,000%0.63% 6,300
= 6,300
THoHAE XS ZH (M AE M=K FHIAL) 227,000 660,000 A 433,000
= 113,500
< 45,400
s 68,100
401 Al HIZ 201 I 227,000 660,000 A 433,000
= 113,500
S 45,400
s 68,100
01 A& HI 225,569 655,842 A 430,273
O2EL=H Mol M=K FHAL 225,569
= 113,500
< 45,400
i 66,669
03 Al 2 THHI 1,431 4,158 A2, 727
Oz=d=X MoHASH=X HHIA
227,000,000%0.63% 1,431
£2d45 E2&AM 6,000 6,000 0
4o 2 oS A S3SASAMY 6,000 6,000 0
S3UE X2AY 6,000 6,000 0
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
OAM=Y =S 3,000
202 4 Hl 3,000 3,000 0
01 S LHOIYI 3,000 3,000 0
SSAH=EXE 3,000
HY2FZH (AL D) 58,560 64,776 26,216
Jl=&l 58,560 64,776 26,216
A48 J123Hl 58,560 64,776 26,216
201 2et24d] 24,300 27,216 22,916
01 At 22l 24,300 27,216 22,916
OZH 0ol &t 19,440
OS&Hl SHl& 4,860
202 (44l 29,160 32,400 A 3,240
01 = LH o4 1l 29,160 32,400 A 3,240
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<

n0

Kio

Hl w

A 60

A 60

H3r
Wikd
RIS

5,160
5,160

Off &t 24

29,160

5,100
5,100
5,100

-

<J

B3
o

K0

Kl
KF
ok
ol

2128

425,000

30
0
x
I+

e

=]
w
i)
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